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Chapter 15

[bookmark: _GoBack]Read each section and fill in the information.  The first one has been done for you.
15.4:  Dilemma One:  A Shrinking Population
 (
Loss of jobs and businesses
) (
Housing costs
)Causes:							Problems:
		

 (
Loss of workers
) (
Childcare costs
)

 (
Women focus on careers
)
 (
Loss of military power
)


15.5: Responses to Negative Growth
Benefits for Having Babies				Family-Friendly Policies for Parents




















15.6:  Dilemma Two:  An Aging Population
Causes							Problems







15.7:  Responses to an Aging Population
Dealing with Pension Costs				Providing Health Care












